Tect ans qudepeHIIPOBAaHHOTO 3a4eTa M0 AUCHUIUINHE «THOCTpaHHBIH S3BIK»

Bapuant 11

1. Write the plural of the nouns:
a) cherry f) dress
b) book g) tomato
c) toy h) deer
d) wife i) child
e) woman j) boss

2. Fill in the where necessary:
a) France f) Madagascar
b) People’s Republic of China g) Atlantic Ocean
c) Elbrus h) Alps
d) Middle East i) Red Sea
e) Gobi J) Suez Canal

3. Choose the right form for the reflexive pronoun:
Ted can’t make the project ...
a) himself b) herself c) myself d) yourself

4. Choose the right form of the comparative degree:
You are ... than ever.
a) the most beautiful b) more beautiful ¢) beautifler

5. Choose the right form of the superlative degree:
A caris .... means of transport .
a) more comfortable b) the comfortablest ¢) the most comfortable

6. Choose the right variant:
a) What subjects do you study at college?
b) You like to spend your free time with friends, don’t you?
¢) Do you speak English?
d) Do you live in a house or in a flat?

a) General gquestion b) Special question c) Alternative d) Disjunctive
question guestion

7. Choose the right form of Present Simple
a) My sister prefer tea to coffee.

b) My sister is preferring tea to coffee.

c) My sister prefers tea to coffee.

8. Choose the right form of Present Continuous:
a) You are writing this test now.

b) You write this test now.

¢) You writing this test now.

9. Choose the right form of Past Simple:
a) Our lesson began twenty minutes ago.
b) Our lesson beginned twenty minutes ago.
c) Our lesson begin twenty minutes ago.

10. Choose the right form of Future Simple:
a) We will to a new flat next week.
b) We move to a new flat tomorrow.



c) We will move to a new flat next week.

11. Choose the right form of the modal verb «can» in Past Simple:
a) coulded b) could c) caned

12. Find the correct form of the sentence in the Passive Voice:
a) Penicillin was discovered by Alexander Fleming in 1928.

b) Penicillin is discovered by Alexander Fleming in 1928.

c) Penicillin were discovered by Alexander Fleming in 1928.
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